)~
AP Calculus AB K lj: \f

Review Unit #1: Limits & Continuity

Multiple-Choice Part 1: Non-Calculator (22 minutes)

1) Given constants a, b, & ¢, and a < b < ¢, and function f'is continuous on the closed interval [a, ]
which of the following must be equal?
I lim f(x) II.  lim f(x) L. 7 (b)
x—b~ x—b*

A) [ &Ionly B) II&Ilonly (C) I, &Illonly
(D) )all of them must be equal (E) none of them must be equal.

Inx for O0<x<2 i z
2 If f(x)= then lim f(x) = in2 :ié 2 lV\Z
) A {lenZ for 2<x<4, x—>2f( )
(A) In2 (B) In8 (C) Inl6 (D) 4 " (E)  nonexistent
X
3 lim—= & . € -
) e Inx ine i €
A) O B8 - G 1 ’ (D)‘ | e (E) nonexistent
e
4) Which of the following functions are continuous for all real numbers x?
7
L oy=x_ L y=¢ UL y=tanx &€ WW*‘M
(A) None (B) Ionly (C) Ionl I &Il (E) T&II
< e v xr:y Jav]
f(x):J2x+5 —Jx+7 for x 2, >Pl ’)_#S-\\I)(-F]
5) If < x—2 2‘nd if f is contlnuous atx =2, then k=
LAY =[ = am Zﬁ*s ,./QK\:“) = ‘;m
Vo / 1 1 =7 (x-2) ( u\§7+rs:1) T2 JZ\T§*H;—,
@w o (®B)- © ; ®1 ® =¥
6 3 5 r
6) 11111—4nz~——
n~* - +10,000n
(A) 0 (B) 2’5100 ©) 1 (D) 4 (E) nonexistent
. . ) Eal
7 lxlur)rol(xcscx) 18 = \)! g’\o Sk
A) -« B -1 (S S ) 1 (E) o
o x?-5x-12 . Y
Voo e T2
Ay — (B) 2 {C 2 (})) 1 (E) 0
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10)  For which function below is lim f(x)=0is

— 3*
i f(x)= i f(0)=x3") il f(x)=—2 v, fx)=2-
3* log, x x
(A) 1iionly (B) ivonly ii & iv only (D) allofthese (E) none ofthese
\ 5+3/x
11} x—>—oo%/_ 4

5
A) - (B) -l <© o 1 (E) 2

o

Multiple-Choice Part 2: Calculatorfminutes)

2 2 —— N b
1) If a # 0, then limx4 —aA is O a¥ras s T } = 'J_i")—
SRR C = e ey R S
(A) % ) | ~1—2 © 12 D O (E) nonexistent
a 2a 6a

2) The graph of the function /" is shown in the figure to the right.
Which of the following statements about fis true? )

2 DN E 5% SN R
(4)  lim f(x) =lim, f(ﬂ@ lim f(x) =2 i LN

X3 X—a

(©) Imf(x)=2 (D) hng f(x)=1

E) lim f(x) does not exist.
( x—q’

Free-Response Part 1: Non-Calculator (15 minutes)

The f be the function given by f(x)=

x
Nx® -4

W Pdmedomainoff (x-2)(x42) v A=+ NV TEN
X=2,-2 = z
(b) Write an equation for each vertical asymptote to the graph of /. x
X=3 A=-& {(whwe devom i< Mg

(©) Write an equation for each honzontal asgfmptote of the graph of /.
=1 Y=-—| . S ‘
. \ e XL T TaTy - \
(d)  Find the one-sided limits of /'(x) as xA2 and as x>—72, ,,X_}L_ﬂzaj
) ki s -4/ -4
\% : F(j_ )‘_?‘;\_‘_ ¢ (%)= s_;”\ ?(x) DNE ; “_!2:/12—
< x>~ f
2 = i ?A):D‘NE l\m %(ﬂ)ﬂ -0 L Vs
T XPR~ S '



